Journal of Linear and Topological Algebra Vol. 10, No. 03, 2021, 187-198



# An algebraic perspective on neutrosophic sets: fields and linear spaces

V. Çetkin<sup>a</sup>, B. Pazar Varol<sup>a,\*</sup>, H. Aygün<sup>a</sup>

<sup>a</sup>Department of Mathematics, Kocaeli University, 41001, Kocaeli, Turkey.

Received 31 May 2020; Revised 26 July 2021; Accepted 27 July 2021. Communicated by Hamidreza Rahimi

**Abstract.** In this work, we intend to introduce and study another algebraic structure of single-valued neutrosophic sets called neutrosophic field as a continuation of our investigations on neutrosophic algebraic structures. For this goal, we define the concept of neutrosophic fields and observe some of their basic characteristics and properties. Then we give the definition of a neutrosophic linear space over the proposed neutrosophic field and consider its fundamental properties.

© 2021 IAUCTB.

**Keywords:** Neutrosophic set, single valued neutrosophic set, field, homomorphism, linear space.

2010 AMS Subject Classification: 03E72, 08A72.

# 1. Introduction

Neutrosopy is a branch of philosophy introduced by Smarandache in 1980. It is the basis of neutrosophic logic, neutrosophic probability, neutrosophic set and neutrosophic statistics. While neutrosophic set generalizes the fuzzy set, neutrosophic probability generalizes the classical and imprecise probability, neutrosophic statistics generalizes the classical and imprecise statistics, neutrosophic logic however generalizes fuzzy logic, intuitionistic logic, Boolean logic, multi-valued logic, paraconsistent logic and dialetheism. In the neutrosophic logic, each proposition is estimated to have the percentage of truth in a subset T, the percentage of indeterminacy in a subset I, and the percentage of falsity in a subset F. The use of neutrosophic theory becomes inevitable when a situation involving

© 2021 IAUCTB. http://jlta.iauctb.ac.ir

 $<sup>^{*}</sup>$ Corresponding author.

E-mail address: vcetkin@gmail.com (V. Çetkin); banupazar@kocaeli.edu.tr (B. Pazar Varol); halis@kocaeli.edu.tr (H. Aygün).

indeterminacy is to be modeled since fuzzy set theory is limited to modeling a situation involving uncertainty. From scientific and engineering point of view, the definition of a neutrosophic set was specified to the single valued neutrosophic set. The single valued neutrosophic set was introduced for the first time by Smarandache [13] and Wang et al. [14]. The single valued neutrosophic set is a generalization of classical set, fuzzy set, intuitionistic fuzzy set and paraconsistent set etc.

The introduction of neutrosophic theory has led to the establishment of the concept of neutrosophic algebraic structures. Kandasamy and Smarandache [8] for the first time introduced the concept of algebraic structures which has caused a paradigm shift in the study of algebraic structures. Single valued neutrosophic set is also applied to algebraic and topological structures (see [1–3, 9, 11, 12]). Çetkin and Aygün [4] proposed the definitions of neutrosophic subgroups [3] and neutrosophic subrings [4] of a given classical group and classical ring, respectively. Çetkin et al. [5] also defined the neutrosophic submodules based on single valued neutrosophic sets and discussed their elementary properties. In this study, as a continuation of our investigations on algebra of single valued neutrosophic sets, we present the notions of neutrosophic fields and neutrosophic linear spaces based on single-valued neutrosophic sets. The proposed notions here, are generalizations of the known notions in the literature such as fuzzy fields [10], fuzzy linear spaces over fuzzy fields [15], intuitionistic subfields [16], vague fields and vague vector spaces [6].

In this paper we proceed as follows: Section 2 gives a brief summary of single-valued neutrosophic sets and operations on these sets. In section 3, we propose the notion of a neutrosophic field of a given classical field with examples and discuss its equivalent characterizations. In addition, we observe its main properties. In section 4, we introduce the notion of neutrosophic linear spaces over neutrosophic fields and investigate some of their fundamentals.

## 2. Preliminaries

In this chapter, we give some preliminaries about single valued neutrosophic sets and set operations, which will be called neutrosophic sets, for simplicity.

**Definition 2.1** [13] A neutrosophic set A on the universe of X is defined by  $A = \{ < x, t_A(x), i_A(x), f_A(x) >, x \in X \}$ , where  $t_A, i_A, f_A : X \rightarrow ]^{-0}, 1^+[$  and  $^{-0} \leq t_A(x) + i_A(x) + f_A(x) \leq 3^+$ .

From philosophical point of view, the neutrosophic set takes the value from real standard or non standard subsets of  $]^{-}0, 1^{+}[$ . But in real life applications in scientific and engineering problems it is difficult to use neutrosophic set with value from real standard or non-standard subset of  $]^{-}0, 1^{+}[$ . Hence throughout this work, the following specified definition of a neutrosophic set known as single valued neutrosophic set is considered.

**Definition 2.2** [14] Let X be a space of points (objects) with a generic element in X denoted by x. A single valued neutrosophic set (SVNS) A on X is characterized by truthmembership function  $t_A$ , indeterminacy-membership function  $i_A$  and falsity-membership function  $f_A$ . For each point x in  $X, t_A(x), i_A(x), f_A(x) \in [0, 1]$ . A neutrosophic set A can be written as  $A = \sum_{i=1}^{n} \langle t(x_i), i(x_i), f(x_i) \rangle / x_i, x_i \in X$ .

**Example 2.3** [14] Assume that  $X = \{x_1, x_2, x_3\}, x_1$  is capability,  $x_2$  is trustworthiness and  $x_3$  is price. The values of  $x_1, x_2$  and  $x_3$  are in [0, 1]. They are obtained from the

questionnaire of some domain experts, their option could be a degree of "good service", a degree of indeterminacy and a degree of "poor service". A is a single valued neutrosophic set of X defined by

$$A = <0.3, 0.4, 0.5 > /x_1 + <0.5, 0.2, 0.3 > /x_2 + <0.7, 0.2, 0.2 > /x_3.$$

Since the membership functions  $t_A$ ,  $i_A$  and  $f_A$  are defined from X into the unit interval [0,1] as  $t_A, i_A, f_A : X \to [0,1]$ , a (single valued) neutrosophic set A will be denoted by a mapping defined as  $A : X \to [0,1] \times [0,1] \times [0,1]$  and  $A(x) = (t_A(x), i_A(x), f_A(x))$ , for simplicity.

**Definition 2.4** [11, 14] Let A and B be two neutrosophic sets on X. Then

- (1) A is contained in B denoted by  $A \subseteq B$  if and only if  $A(x) \leq B(x)$ . This means that  $t_A(x) \leq t_B(x), i_A(x) \leq i_B(x)$  and  $f_A(x) \geq f_B(x)$ . Two sets A and B is called equal, i.e., A = B iff  $A \subseteq B$  and  $B \subseteq A$ .
- (2) the union of A and B is denoted by  $C = A \cup B$  and defined as  $C(x) = A(x) \vee B(x)$ , where  $A(x) \vee B(x) = (t_A(x) \vee t_B(x), i_A(x) \vee i_B(x), f_A(x) \wedge f_B(x))$  for each  $x \in X$ . This means that  $t_C(x) = \max\{t_A(x), t_B(x)\}, i_C(x) = \max\{i_A(x), i_B(x)\}$  and  $f_C(x) = \min\{f_A(x), f_B(x)\}$ .
- (3) the intersection of A and B is denoted by  $C = A \cap B$  and defined as  $C(x) = A(x) \wedge B(x)$ , where  $A(x) \wedge B(x) = (t_A(x) \wedge t_B(x), i_A(x) \wedge i_B(x), f_A(x) \vee f_B(x))$  for each  $x \in X$ . This means that  $t_C(x) = \min\{t_A(x), t_B(x)\}, i_C(x) = \min\{i_A(x), i_B(x)\}$  and  $f_C(x) = \max\{f_A(x), f_B(x)\}$ .
- (4) the complement of A is denoted by  $A^c$  and defined as  $A^c(x) = (f_A(x), 1 i_A(x), t_A(x))$ for each  $x \in X$ . Here  $(A^c)^c = A$ .

**Proposition 2.5** [14] Let A, B and C be the neutrosophic sets on the common universe X. Then the following properties are satisfied:

- (1)  $A \cup B = B \cup A, A \cap B = B \cap A.$
- $(2) A \cup (B \cup C) = (A \cup B) \cup C, A \cap (B \cap C) = (A \cap B) \cap C.$
- $(3) A \cup (B \cap C) = (A \cup B) \cap (A \cup C), A \cap (B \cup C) = (A \cap B) \cup (A \cap C).$
- (4)  $A \cap \widetilde{\emptyset} = \widetilde{\emptyset}, A \cup \widetilde{\emptyset} = A, A \cup \widetilde{X} = \widetilde{X}, A \cap \widetilde{X} = A$ , where  $t_{\widetilde{\emptyset}} = i_{\widetilde{\emptyset}} = 0, f_{\widetilde{\emptyset}} = 1$  and  $t_{\widetilde{X}} = i_{\widetilde{X}} = 1, f_{\widetilde{X}} = 0$ .

(5) 
$$(A \cup B)^c = A^c \cap B^c, (A \cap B)^c = A^c \cup B^c.$$

**Definition 2.6** [5] Let A and B be two neutrosophic sets on X and Y, respectively. Then the cartesian product of A and B which is denoted by  $A \times B$  is a neutrosophic set on  $X \times Y$  and it is defined as  $(A \times B)(x, y) = A(x) \times B(y)$ , where  $A(x) \times B(y) = (t_{A \times B}(x, y), i_{A \times B}(x, y), f_{A \times B}(x, y))$ , i.e.,  $t_{A \times B}(x, y) = t_A(x) \wedge t_B(y), i_{A \times B}(x, y) = i_A(x) \wedge i_B(y)$  and  $f_{A \times B}(x, y) = f_A(x) \vee f_B(y)$ .

**Definition 2.7** [3] Let A be a neutrosophic set on X and  $\alpha \in [0, 1]$ . Define the  $\alpha$ -level sets of A as follows:

 $(t_A)_{\alpha} = \{x \in X \mid t_A(x) \ge \alpha\}, (i_A)_{\alpha} = \{x \in X \mid i_A(x) \ge \alpha\} \text{ and } (f_A)^{\alpha} = \{x \in X \mid f_A(x) \le \alpha\}.$ 

**Definition 2.8** [3] Let  $g: X_1 \to X_2$  be a function and A and B be the neutrosophic sets on  $X_1$  and  $X_2$ , respectively. Then

(1) the image of a neutrosophic set A is a neutrosophic set on  $X_2$  and it is defined by follows:

 $g(A)(y) = (t_{g(A)}(y), i_{g(A)}(y), f_{g(A)}(y)) = (g(t_A)(y), g(i_A)(y), g(f_A)(y)) \text{ for all } y \in X_2,$ 

where 
$$g(t_A)(y) = \begin{cases} \bigvee t_A(x), & \text{if } x \in g^{-1}(y); \\ 0, & \text{otherwise} \end{cases}$$
,  
 $g(i_A)(y) = \begin{cases} \bigvee i_A(x), & \text{if } x \in g^{-1}(y); \\ 0, & \text{otherwise} \end{cases}$  and  $g(f_A)(y) = \begin{cases} \bigwedge f_A(x), & \text{if } x \in g^{-1}(y); \\ 1, & \text{otherwise.} \end{cases}$ 

(2) the preimage of a neutrosophic set *B* is a neutrosophic set on  $X_1$  and it is defined by  $g^{-1}(B)(x) = (t_{g^{-1}(B)}(x), i_{g^{-1}(B)}(x), f_{g^{-1}(B)}(x)) = (t_B(g(x)), i_B(g(x)), f_B(g(x))) = B(g(x))$  for all  $x \in X_1$ .

**Definition 2.9** [3] Let  $(X, \cdot)$  be a classical group and A be a neutrosophic set on X. A is called a neutrosophic subgroup of X if the following conditions are satisfied:

- (N1)  $A(x \cdot y) \ge A(x) \land A(y)$ , i.e.,  $t_A(x \cdot y) \ge t_A(x) \land t_A(y)$ ,  $i_A(x \cdot y) \ge i_A(x) \land i_A(y)$  and  $f_A(x \cdot y) \le f_A(x) \lor f_A(y)$ ,  $\forall x, y \in X$
- (N2)  $A(x^{-1}) \ge A(x)$ , i.e.,  $t_A(x^{-1}) \ge t_A(x)$ ,  $i_A(x^{-1}) \ge i_A(x)$  and  $f_A(x^{-1}) \le f_A(x)$  for all  $x, y \in X$ .

### 3. Neutrosophic fields

In this section, we introduce the concept of a neutrosophic field over a given classical field, in terms of the use of the single valued neutrosophic sets. We investigate some fundamental properties and give characterizations of neutrosophic fields. From now on let  $F = (F, +, \cdot)$  be a classical field with the unit elements  $\Theta$  and e of the additive operation "+" and the multiplicative operation " $\cdot$ ", respectively.

**Definition 3.1** Let F be a field and A be a neutrosophic set on F. Then A is called a neutrosophic field of F if the following conditions are satisfied:

- (NF1)  $A(x+y) \ge A(x) \land A(y)$  for all  $x, y \in F$  i.e.,  $t_A(x+y) \ge t_A(x) \land t_A(y), i_A(x+y) \ge i_A(x) \land i_A(y)$  and  $f_A(x+y) \le f_A(x) \lor f_A(y)$ .
- (NF2)  $A(-x) \ge A(x)$  for all  $x \in F$  i.e.,  $t_A(-x) \ge t_A(x)$ ,  $i_A(-x) \ge i_A(x)$  and  $f_A(-x) \le f_A(x)$ .
- (NF3)  $A(xy) \ge A(x) \land A(y)$  for all  $x, y \in F$ , i.e.,  $t_A(xy) \ge t_A(x) \land t_A(y), i_A(xy) \ge i_A(x) \land i_A(y)$ and  $f_A(xy) \le f_A(x) \lor f_A(y)$ .
- (NF4)  $A(x^{-1}) \ge A(x)$  for all  $\Theta \ne x \in F$ , i.e.,  $t_A(x^{-1}) \ge t_A(x)$ ,  $i_A(x^{-1}) \ge i_A(x)$  and  $f_A(x^{-1}) \le f_A(x)$ .

The collection of all neutrosophic fields of F is denoted by NSF(F).

**Example 3.2** Let  $F = \mathbb{Z}_3 = \{\overline{0}, \overline{1}, \overline{2}\}$  be a field with addition modulo and multiplicative modulo operation (see [7]). A neutrosophic set A of F defined by  $A = \{\langle 1, 1, 0 \rangle / \overline{0}, \langle 0.8, 0.8, 0.2 \rangle / \overline{1}, \langle 0.8, 0.8, 0.2 \rangle / \overline{2}\}$  is a neutrosophic filed of F.

**Example 3.3** Let  $F = \mathbb{R}$  be the set of real numbers. It is known that F is a field with natural sum and natural multiplication operations (see [7]). Let us define a single-valued neutrosophic set  $A = (t_A, i_A, f_A)$  as follows:

$$t_A(x) = \begin{cases} 1, & \text{if } x \in \{0,1\} \\ 0.8, & \text{if } x \in \mathbb{Q} \setminus \{0,1\} \\ 0, & \text{if } x \in \mathbb{R} \setminus \mathbb{Q} \end{cases}, \quad i_A(x) = \begin{cases} 1, & \text{if } x \in \{0,1\} \\ 0.6, & \text{if } x \in \mathbb{Q} \setminus \{0,1\} \\ 0, & \text{if } x \in \mathbb{R} \setminus \mathbb{Q} \end{cases} \text{ and } \\ 0, & \text{if } x \in \mathbb{R} \setminus \mathbb{Q} \end{cases}$$

$$f_A(x) = \begin{cases} 0, & \text{if } x \in \{0,1\} \\ 0.3, & \text{if } x \in \mathbb{Q} \setminus \{0,1\} \\ 1, & \text{if } x \in \mathbb{R} \setminus \mathbb{Q} \end{cases}$$

190

Then it is easy to see that A is a neutrosophic field of F.

**Theorem 3.4** Let F be a field and A be a neutrosophic set on F. Then  $A \in NSF(F)$  if and only if the followings are satisfied:

- (i) A is a neutrosophic additive subgroup of (F, +).
- (ii) A is a neutrosophic multiplicative subgroup of  $(F \setminus \{\Theta\}, \cdot)$ .

**Proof.** The proof is straightforward.

**Theorem 3.5** Let A be a neutrosophic field of F. Then the following properties are satisfied:

- (i)  $A(\Theta) \ge A(x)$  for any  $x \in F$ .
- (ii)  $A(e) \ge A(x)$  for any  $x \in F \setminus \{\Theta\}$ .

**Proof.** (i) Let  $x \in F$  be given.  $t_A(\Theta) = t_A(x - x) \ge t_A(x) \land t_A(-x) \ge t_A(x) \land t_A(x) = t_A(x)$  and similarly,  $i_A(\Theta) \ge i_A(x)$ ,  $f_A(\Theta) \le f_A(x)$ . So the desired inequality  $A(\Theta) \ge A(x)$  is obtained.

(ii) Let  $\Theta \neq x \in F$  be given.  $t_A(e) = t_A(xx^{-1}) \ge t_A(x) \land t_A(x) = t_A(x)$  and similarly we have  $i_A(e) \ge i_A(x)$ ,  $f_A(e) \le f_A(x)$ . Hence  $A(e) \ge A(x)$  for any  $x \in F \setminus \{\Theta\}$ .

**Theorem 3.6** A neutrosophic set A on F is a neutrosophic field of F if and only if the following conditions are satisfied:

(i)  $A(x-y) \ge A(x) \land A(y)$  for each  $x, y \in F$ . (ii)  $A(xy^{-1}) \ge A(x) \land A(y)$  for each  $x \in F$ ,  $\Theta \neq y \in F$ .

**Proof.** Let A be a neutrosophic field of F and  $x, y \in F$ .

- (i) It is clear that  $t_A(x-y) \ge t_A(x) \land t_A(-y) \ge t_A(x) \land t_A(y)$ . Similarly,  $i_A(x-y) \ge i_A(x) \land i_A(y)$  and  $f_A(x-y) \le f_A(x) \land f_A(y)$ . Hence,  $A(x-y) = (t_A(x-y), i_A(x-y), f_A(x-y))$   $\ge (t_A(x) \land t_A(y), i_A(x) \land i_A(y), f_A(x) \lor f_A(y))$   $= (t_A(x), i_A(x), f_A(x)) \land (t_A(y), i_A(y), f_A(y))$   $= A(x) \land A(y).$
- (ii) Let  $x \in F$  and  $\Theta \neq y \in F$  be given. It is clear that  $t_A(xy^{-1}) \ge t_A(x) \land t_A(y^{-1}) \ge t_A(x) \land t_A(y)$ . Similarly, we obtain  $i_A(xy^{-1}) \ge i_A(x) \land i_A(y)$  and  $f_A(xy^{-1}) \le f_A(x) \lor f_A(y)$ . So, according to similar discussion of (i), we obtain  $A(xy^{-1}) \ge A(x) \land A(y)$ . The other side of the proof is clear from the proof of Theorem 3.4 in [3].

**Theorem 3.7** Let A be a neutrosophic field of F, then the followings are satisfied:

- (i) If  $A(x-y) = A(\Theta)$ , then A(x) = A(y) for  $x, y \in F$ .
- (ii) If  $A(xy^{-1}) = A(e)$ , then A(x) = A(y) for  $\Theta \neq x, y \in F$ .

#### Proof.

(i) Suppose that 
$$A(x-y) = A(\Theta)$$
 for some  $x, y \in F$ . By Theorems 3.5 (i) and 3.6 (i)

$$\begin{array}{rcl} t_A(x) &=& t_A(x-y+y) & t_A(y) &=& t_A(x-(x-y)) \\ & \geqslant & t_A(x-y) \wedge t_A(y) & \text{and} & & \geqslant & t_A(x) \wedge t_A(x-y) \\ & =& t_A(\Theta) \wedge t_A(y) & \text{and} & & =& t_A(x) \wedge t_A(\Theta) \\ & =& t_A(y). & & =& t_A(x). \end{array}$$

Hence we get  $t_A(x) = t_A(y)$ . Other equalities are obtained in a similar way. Thus,  $A(x) = (t_A(x), i_A(x), f_A(x)) = (t_A(y), i_A(y), f_A(y)) = A(y)$ . (ii) Let  $A(xy^{-1}) = A(e)$  for some  $x \in F$  and  $y \in F \setminus \{\Theta\}$ . By Theorems 3.5 (ii) and 3.6 (ii),  $f_A(x) = f_A(xy^{-1}y) \leq f_A(xy^{-1}) \lor f_A(y) = f_A(e) \lor f_A(y) = f_A(y)$ . Then we obtain,  $f_A(x) \leq f_A(y)$ . Now,  $f_A(y) = f_A(x(xy^{-1})^{-1}) \leq f_A(x) \lor f_A(xy^{-1}) = f_A(x) \lor f_A(e) = f_A(x)$ . Hence, we have  $f_A(y) \leq f_A(x)$ . By these inequalities we see that  $f_A(y) = f_A(x)$ . Similarly,  $i_A(y) = i_A(x)$  and  $t_A(y) = t_A(x)$ . Therefore, A(x) = A(y).

**Theorem 3.8** If A and B are two neutrosophic field of F, then their intersection  $A \cap B$  so is.

**Proof.** By Theorem 3.6, it is sufficient to show the following conditions are true.

- (i)  $(A \cap B)(x y) \ge (A \cap B)(x) \land (A \cap B)(y).$
- (ii)  $(A \cap B)(xy^{-1}) \ge (A \cap B)(x) \land (A \cap B)(y).$
- (i) Let  $x, y \in F$  be given.

$$\begin{array}{lll} t_{A\cap B}(x-y) &=& t_A(x-y) \wedge t_B(x-y) \\ &\geqslant& (t_A(x) \wedge t_A(y)) \wedge (t_B(x) \wedge t_B(y)) \\ &=& (t_A(x) \wedge t_B(x)) \wedge (t_A(y) \wedge t_B(y)) \\ &=& t_{A\cap B}(x) \wedge t_{A\cap B}(y). \end{array}$$

Similarly, the other inequalities are satisfied. Hence,  $(A \cap B)(x - y) \ge (A \cap B)(x) \land (A \cap B)(y)$ .

(ii) Let  $x \in F$  and  $y \in F \setminus \{\Theta\}$ .  $f_{A \cap B}(x \cdot y^{-1}) = f_A(x \cdot y^{-1}) \lor f_B(x \cdot y^{-1})$   $\leqslant (f_A(x) \lor f_A(y)) \lor (f_B(x) \lor f_B(y))$   $= (f_A(x) \lor f_B(x)) \lor (f_A(y) \lor f_B(y))$   $= f_{A \cap B}(x) \lor f_{A \cap B}(y).$ 

The other inequalities are similarly proved. Therefore,  $(A \cap B)(xy^{-1}) \ge (A \cap B)(x) \land (A \cap B)(y)$ . Hence,  $A \cap B \in NSF(F)$ .

**Proposition 3.9** If A is a neutrosophic field of F, then the followings are satisfied:

- (i) A(-x) = A(x) for all  $x \in F$
- (ii)  $A(x^{-1}) = A(x)$  for all  $\Theta \neq x \in F$ .

**Proof.** (i) Since  $A \in NSF(F)$ , we have  $A(-x) \ge A(x)$  for all  $x \in F$ , and also we have  $A(x) = A(-(-x)) \ge A(-x)$ . Hence, (i) is satisfied. (ii) is similarly proved, for any  $\Theta \ne x \in F$ .

**Theorem 3.10** If  $A \in NSF(F)$ , then  $A(x+y) = A(x) \land A(y)$  and  $A(xy) = A(x) \land A(y)$  with  $A(x) \neq A(y)$  for each  $x, y \in F$ .

**Proof.** Let  $x, y \in F$ . Assume that A(x) > A(y), i.e.,  $t_A(x) > t_A(y)$ ,  $i_A(x) > i_A(y)$ ,  $f_A(x) < f_A(y)$ .  $t_A(y) = t_A(-x + x + y) \ge t_A(-x) \wedge t_A(x + y) \ge t_A(x) \wedge t_A(x + y) \ge t_A(x) \wedge t_A(x) = t_A(y)$ . Therefore,  $t_A(x+y) = t_A(y) = t_A(x) \wedge t_A(y)$  for all  $x, y \in F$ . Now,  $t_A(y) = t_A(x^{-1}xy) \ge t_A(x^{-1}) \wedge t_A(xy) \ge t_A(x) \wedge t_A(xy) \ge t_A(x) \wedge t_A(y) = t_A(y)$ . Therefore,  $t_A(xy) = t_A(x) \wedge t_A(y) = t_A(x) \wedge t_A(y) = t_A(y)$ . Therefore,  $t_A(xy) = t_A(x) \wedge t_A(y) = t_A(x) \wedge t_A(y) = t_A(y)$ .

**Theorem 3.11** Let  $A \in NSF(F)$ . If A(x) < A(y) for some  $x, y \in F$ , then the followings are satisfied:

(i) A(x+y) = A(x) = A(y+x). (ii) A(xy) = A(x) = A(yx).

**Proof.** Let  $A \in NSF(F)$  and A(x) < A(y) for some  $x, y \in F$ , i.e.,  $t_A(x) < t_A(y), i_A(x) < i_A(y), f_A(x) > f_A(y)$ . Then  $t_A(x + y) \ge t_A(x) \wedge t_A(y) = t_A(x)$  and  $t_A(x) = t_A(x + y - y) \ge t_A(x + y) \wedge t_A(y) = t_A(x + y)$ . Therefore,  $t_A(x + y) = t_A(x)$ . Similarly other equalities are obtained.

(ii)  $t_A(xy) \ge t_A(x) \wedge t_A(y) = t_A(x)$  and  $t_A(x) = t_A(xyy^{-1}) \ge t_A(xy) \wedge t_A(y^{-1}) \ge t_A(xy) \wedge t_A(y) = t_A(xy)$ . Therefore,  $t_A(xy) = t_A(x)$ . Similarly other equalities are satisfied.

The following proposition gives the characterizations of a neutrosophic field in terms of  $\alpha$ -level sets.

**Proposition 3.12**  $A \in NSF(F)$  if and only if for all  $\alpha \in [0,1]$ ,  $\alpha$ -level sets  $(t_A)_{\alpha}, (i_A)_{\alpha}, (f_A)^{\alpha}$  of A are classical subfields of F, which are not trivial subfields.

**Proof.** Assume that  $(t_A)_{\alpha}, (i_A)_{\alpha}, (f_A)^{\alpha}$  have at least one element different from  $\Theta$ . Let  $x, y \in (t_A)_{\alpha}$  (similarly,  $x, y \in (i_A)_{\alpha}, (f_A)^{\alpha}$ ). Then  $t_A(x), t_A(y) \ge \alpha$ . So,  $t_A(x-y) \ge t_A(x) \land t_A(y) \ge \alpha$  (and similarly,  $i_A(x-y) \ge \alpha, f_A(x-y) \le \alpha$ ), which gives  $x-y \in (t_A)_{\alpha}$  (and  $x-y \in (i_A)_{\alpha}, (f_A)^{\alpha}$ ). By the similar observation, we can see that  $t_A(xy^{-1}) \ge \alpha$  (and  $i_A(xy^{-1}) \ge \alpha, f_A(xy^{-1}) \le \alpha$ ) and so  $xy^{-1} \in (t_A)_{\alpha} (xy^{-1} \in (i_A)_{\alpha}, (f_A)^{\alpha})$ . Hence,  $(t_A)_{\alpha}$  (and  $(i_A)_{\alpha}, (f_A)^{\alpha}$ ) is a classical subfield of F. Conversely, let  $(t_A)_{\alpha}$  be a classical subfield of F, for each  $\alpha \in [0, 1]$ . Let  $x, y \in F$ . If

Conversely, let  $(t_A)_{\alpha}$  be a classical subfield of F, for each  $\alpha \in [0, 1]$ . Let  $x, y \in F$ . If  $x = \Theta$  or  $y = \Theta$ , the proof is clear. Suppose that  $x, y \neq \Theta$ . Choose  $\alpha = t_A(x) \wedge t_A(y)$  and  $\beta = t_A(x)$ . Thus,  $x, y \in (t_A)_{\alpha}$  and  $x \in (t_A)_{\beta}$ . Since  $(t_A)_{\alpha}, (t_A)_{\beta}$  are classical subfields of F,  $x+y, xy \in (t_A)_{\alpha}$  and  $-x, x^{-1} \in (t_A)_{\beta}$ . This gives  $t_A(x+y) \ge \alpha = t_A(x) \wedge t_A(y), t_A(xy) \ge \alpha = t_A(x) \wedge t_A(y), t_A(-x) \ge \beta = t_A(x)$  and  $t_A(x^{-1}) \ge \beta = t_A(x)$  for all  $x \in F \setminus \{\Theta\}$ . The other inequalities are similarly proved. Therefore  $A \in NSF(F)$ .

**Theorem 3.13** Let  $F_1$  and  $F_2$  be two classical fields and  $g: F_1 \to F_2$  be a homomorphism of fields which preserves the additive and multiplicative operations. Let A be a neutrosophic field of  $F_1$ , then the image g(A) of A, is a neutrosophic field of  $F_2$ .

**Proof.** Let  $A \in NSF(F_1)$  and  $y_1, y_2 \in F_2$ . If either  $g^{-1}(y_1)$  or  $g^{-1}(y_2)$  is empty, then it is obvious that  $g(A) \in NS(F_2)$ . Suppose  $g^{-1}(y_1), g^{-1}(y_2) \neq \emptyset$ . Let  $x_1, x_2 \in F_1$  such that  $g(x_1) = y_1$  and  $g(x_2) = y_2$ . Since g is a homomorphism of fields, then

$$g(t_A)(y_1 - y_2) = \bigvee_{y_1 - y_2 = g(x)} t_A(x) \ge t_A(x_1 - x_2),$$
  

$$g(i_A)(y_1 - y_2) = \bigvee_{y_1 - y_2 = g(x)} i_A(x) \ge i_A(x_1 - x_2),$$
  

$$g(f_A)(y_1 - y_2) = \bigwedge_{y_1 - y_2 = g(x)} f_A(x) \le f_A(x_1 - x_2).$$

By using these inequalities, we show that  $g(A)(y_1 - y_2) \ge g(A)(y_1) \land g(A)(y_2)$ .

V. Çetkin et al. / J. Linear. Topological. Algebra. 10(03) (2021) 187-198.

$$g(A)(y_1 - y_2) = (g(t_A)(y_1 - y_2), g(i_A)(y_1 - y_2), g(f_A)(y_1 - y_2))$$
  

$$= (\bigvee_{y_1 - y_2 = g(x)} t_A(x), \bigvee_{i_A(x), A} f_A(x))$$
  

$$y_{1 - y_2 = g(x)} y_{1 - y_2 = g(x)} y_{1 - y_2 = g(x)}$$
  

$$\geq (t_A(x_1 - x_2), i_A(x_1 - x_2), f_A(x_1 - x_2))$$
  

$$\geq (t_A(x_1) \land t_A(x_2), i_A(x_1) \land i_A(x_2), f_A(x_1) \lor f_A(x_2))$$
  

$$= (t_A(x_1), i_A(x_1), f_A(x_1)) \land (t_A(x_2), i_A(x_2), f_A(x_2)).$$

This inequality is satisfied for each  $x_1, x_2 \in F_1$  with  $g(x_1) = y_1$  and  $g(x_2) = y_2$ . Now, it is clear that

$$g(A)(y_{1} - y_{2}) \geq (\bigvee_{y_{1} = g(x_{1})} t_{A}(x_{1}), \bigvee_{y_{1} = g(x_{1})} i_{A}(x_{1}), \bigwedge_{y_{1} = g(x_{1})} f_{A}(x_{1}))$$

$$\wedge (\bigvee_{y_{2} = g(x_{2})} t_{A}(x_{2}), \bigvee_{y_{2} = g(x_{2})} i_{A}(x_{2}), \bigwedge_{y_{2} = g(x_{2})} f_{A}(x_{2}))$$

$$= (g(t_{A})(y_{1}), g(i_{A})(y_{1}), g(f_{A})(y_{1})) \wedge (g(t_{A})(y_{2}), g(i_{A})(y_{2}), g(f_{A})(y_{2}))$$

$$= g(A)(y_{1}) \wedge g(A)(y_{2}).$$

By the similar discussion,

$$g(A)(y_1 \cdot y_2^{-1}) \ge g(A)(y_1) \land g(A)(y_2)$$

is obtained for any  $y_1 \in F_2$  and  $\Theta \neq y_2 \in F_2$ . Hence, the claim  $g(A) \in NSF(F_2)$  is true.

**Theorem 3.14** Let  $F_1$  and  $F_2$  be two classical fields and  $g: F_1 \to F_2$  be a homomorphism of fields. Let B be a neutrosophic field of  $F_2$ , then the preimage  $g^{-1}(B)$  is a neutrosophic field of  $F_1$ .

**Proof.** Let  $B \in NSF(F_2)$  and  $x_1, x_2 \in F_1$ . Then

$$\begin{array}{lll} g^{-1}(B)(x_1 - x_2) &=& (t_B(g(x_1 - x_2)), i_B(g(x_1 - x_2)), f_B(g(x_1 - x_2))) \\ &=& (t_B(g(x_1) - g(x_2)), i_B(g(x_1) - g(x_2)), f_B(g(x_1) - g(x_2))) \\ &\geqslant& (t_B(g(x_1)) \wedge t_B(g(x_2)), i_B(g(x_1)) \\ && \wedge i_B(g(x_2)), f_B(g(x_1)) \vee f_B(g(x_2))) \\ &=& (t_B(g(x_1)), i_B(g(x_1)), f_B(g(x_1))) \\ && \wedge (t_B(g(x_2)), i_B(g(x_2)), f_B(g(x_2))) \\ &=& g^{-1}(B)(x_1) \wedge g^{-1}(B)(x_2). \end{array}$$

Also, for  $x_1 \in F_1$  and  $\Theta \neq x_2 \in F_1$ , following inequality is valid:

$$\begin{array}{lll} g^{-1}(B)(x_1 \cdot x_2^{-1}) &=& (t_B(g(x_1 \cdot x_2^{-1})), i_B(g(x_1 \cdot x_2^{-1})), f_B(g(x_1 \cdot x_2^{-1}))) \\ &=& (t_B(g(x_1) \cdot g(x_2)^{-1}), i_B(g(x_1) \cdot g(x_2)^{-1}), f_B(g(x_1) \cdot g(x_2)^{-1})) \\ &\geqslant& (t_B(g(x_1)) \wedge t_B(g(x_2)), i_B(g(x_1)) \\ && \wedge i_B(g(x_2)), f_B(g(x_1)) \vee f_B(g(x_2))) \\ &=& (t_B(g(x_1)), i_B(g(x_1)), f_B(g(x_1))) \\ && \wedge (t_B(g(x_2)), i_B(g(x_2)), f_B(g(x_2))) \\ &=& g^{-1}(B)(x_1) \wedge g^{-1}(B)(x_2). \end{array}$$

Hence,  $g^{-1}(B)$  is a neutrosophic field of  $F_1$  as claimed.

**Theorem 3.15** If A and B are neutrosophic fields of  $F_1$  and  $F_2$ , respectively, then  $A \times B$  is a neutrosophic field of  $F_1 \times F_2$ .

**Proof.** Let A and B be the neutrosophic fields of  $F_1$  and  $F_2$ , respectively. Let  $x_1, y_1 \in F_1$  and  $x_2, y_2 \in F_2$ . Then  $(x_1, x_2), (y_1, y_2) \in F_1 \times F_2$ .

194

$$t_{A \times B}((x_1, x_2) - (y_1, y_2)) = t_{A \times B}(x_1 - y_1, x_2 - y_2)$$
  
=  $t_A(x_1 - y_1) \wedge t_B(x_2 - y_2)$   
 $\geqslant (t_A(x_1) \wedge t_A(y_1)) \wedge (t_B(x_2) \wedge t_B(y_2))$   
=  $(t_A(x_1) \wedge t_B(x_2)) \wedge (t_A(y_1) \wedge t_B(y_2))$   
=  $t_{A \times B}(x_1, x_2) \wedge t_{A \times B}(y_1, y_2).$ 

Similarly, we obtain  $i_{A\times B}((x_1, x_2) - (y_1, y_2)) \ge i_{A\times B}(x_1, x_2) \wedge i_{A\times B}(y_1, y_2)$  and  $f_{A\times B}((x_1, x_2) - (y_1, y_2)) \le f_{A\times B}(x_1, x_2) \vee f_{A\times B}(y_1, y_2)$ . Hence,  $(A \times B)((x_1, x_2) - (y_1, y_2)) \ge (A \times B)(x_1, x_2) \wedge (A \times B)(y_1, y_2)$ . So, the condition (i) of Theorem 3.6 is satisfied. Now, let us show that the condition (ii) of Theorem 3.6 is true. Let  $x_1 \in F_1$ ,  $\Theta \neq y_1 \in F_1$  and  $x_2 \in F_2$ ,  $\Theta \neq y_2 \in F_2$ .

$$\begin{array}{rcl} t_{A\times B}((x_1,x_2)(y_1,y_2)^{-1}) &=& t_{A\times B}(x_1y_1^{-1},x_2y_2^{-1}) \\ &=& t_A(x_1y_1^{-1}) \wedge t_B(x_2y_2^{-1}) \\ &\geqslant& (t_A(x_1) \wedge t_A(y_1)) \wedge (t_B(x_2) \wedge t_B(y_2)) \\ &=& (t_A(x_1) \wedge t_B(x_2)) \wedge (t_A(y_1) \wedge t_B(y_2)) \\ &=& t_{A\times B}(x_1,x_2) \wedge t_{A\times B}(y_1,y_2). \end{array}$$

Similarly, other inequalities are satisfied. Hence,  $A \times B$  is a neutrosophic field of  $F_1 \times F_2$ .

#### 4. Neutrosophic linear spaces over neutrosophic fields

In this section, we introduce the notion of a neutrosophic linear (vector) space over the neutrosophic fields as an extension of the fuzzy linear spaces given in [15] and investigate some of its elementary properties.

**Definition 4.1** Let F be a classical field, V be a classical linear (vector) space over F, A be a neutrosophic field on F, and B be a neutrosophic set on V. Then B is called a neutrosophic linear space over the neutrosophic field A if the following conditions are satisfied:

(NL1)  $B(x+y) \ge B(x) \land B(y)$  for all  $x, y \in V$  i.e.,  $t_B(x+y) \ge t_B(x) \land t_B(y), i_B(x+y) \ge i_B(x) \land i_B(y)$  and  $f_B(x+y) \le f_B(x) \lor f_B(y)$ ;

(NL2)  $B(-x) \ge B(x)$  for all  $x \in V$ , i. e.,  $t_B(-x) \ge t_B(x)$ ,  $i_B(-x) \ge i_B(x)$  and  $f_B(-x) \le f_B(x)$ ;

- (NL3)  $B(\lambda x) \ge A(\lambda) \wedge B(x)$  for all  $\lambda \in F$ ,  $x \in V$  i.e.,  $t_B(\lambda x) \ge t_A(\lambda) \wedge t_B(x)$ ,  $i_A(\lambda x) \ge i_A(\lambda) \wedge i_B(x)$  and  $f_B(\lambda x) \le f_A(\lambda) \vee f_B(x)$ ;
- (NL4)  $A(e) \ge B(\Theta)$  i.e.,  $t_A(e) \ge t_B(\Theta), i_A(e) \ge i_B(\Theta)$  and  $f_A(e) \le f_B(\Theta)$ .

**Proposition 4.2** Let *B* be a neutrosophic linear space over a neutrosophic field *A*. Then B(-y) = B(y) for any  $y \in V$ .

**Proof.** The proof is straightforward.

**Proposition 4.3** If B is a neutrosophic linear space over a neutrosophic field A, then the followings are satisfied:

(i)  $A(\Theta) \ge B(\Theta)$ . (ii)  $B(\Theta) \ge B(x)$  for  $x \in V$ .

(iii)  $A(\Theta) \ge B(x)$  for  $x \in V$ .

**Proof.** It is similar to the proof of Theorem 3.5.

**Theorem 4.4** Let  $A \in NSF(F)$ , V be a linear space over F and B be a neutrosophic set of V. Then B is a neutrosophic linear space over A if and only if (i) and (ii) are satisfied:

(i)  $B(\lambda x + \mu y) \ge (A(\lambda) \land B(x)) \land (A(\mu) \land B(y)) \text{ for } \lambda, \mu \in F \text{ and } x, y \in V, \text{ i.e., } t_B(\lambda x + \mu y) \ge (t_A(\lambda) \land t_B(x)) \land (t_A(\mu) \land t_B(y)), i_B(\lambda x + \mu y) \ge (i_A(\lambda) \land t_B(x)) \land (i_A(\mu) \land t_B(y)) \text{ and } f_B(\lambda x + \mu y) \le (f_A(\lambda) \lor f_B(x)) \lor (f_A(\mu) \lor f_B(y)).$ 

(ii)  $A(e) \ge B(x)$  for  $x \in V$ , i. e.,  $t_A(e) \ge t_B(x)$ ,  $i_A(e) \ge i_B(x)$  and  $f_A(e) \le f_B(x)$ .

**Proof.** (i) Let *B* be a neutrosophic linear space over *A*. Then we have  $t_B(\lambda x) \ge t_A(\lambda) \land t_B(x)$ ,  $i_B(\lambda x) \ge i_A(\lambda) \land i_B(x)$  and  $f_B(\lambda x) \le f_A(\lambda) \lor f_B(x)$  for all  $x \in V, \lambda \in F$  and  $t_B(\mu y) \ge t_A(\mu) \land t_B(y)$ ,  $i_B(\mu y) \ge i_A(\mu) \land i_B(y)$  and  $f_B(\mu y) \le f_A(\mu) \lor f_B(y)$  for all  $y \in V, \mu \in F$ . Hence,

 $\begin{array}{rcl} t_B(\lambda x + \mu y) & \geqslant & t_B(\lambda x) + t_B(\mu y) \\ & \geqslant & (t_A(\lambda) \wedge t_B(x)) \wedge (t_A(\mu) \wedge t_B(y)) \\ & = & t_A(\lambda) \wedge t_A(\mu) \wedge t_B(x) \wedge t_B(y). \end{array}$ 

and similarly,  $i_B(\lambda x + \mu y) \ge i_A(\lambda) \wedge i_A(\mu) \wedge i_B(x) \wedge i_B(y)$  and  $f_B(\lambda x + \mu y) \le f_A(\lambda) \vee f_A(\mu) \vee f_B(x) \vee f_B(y)$ . Therefore,  $B(\lambda x + \mu y) \ge (A(\lambda) \wedge B(x)) \wedge (A(\lambda) \wedge B(y))$ .

(ii) It is clear from the Definiton 4.1 (NL4) and Proposition 4.3 (ii). Conversely, let the inequalities of Theorem 4.4 are hold. For  $x, y \in V$ ,

(NL1) If 
$$\lambda = \mu = e$$
, then  
 $t_B(x+y) \ge t_B(ex) \wedge t_B(x) \wedge t_A(e) \wedge t_B(y)$   
 $= t_A(e) \wedge t_B(x) \wedge t_B(y)$   
 $= t_B(x) \wedge t_B(y).$   
(NL2)  
 $t_B(-x) = t_B(\theta x + (-e)x)$   
 $\ge t_A(\Theta) \wedge t_B(x) \wedge t_A(-e) \wedge t_B(x)$   
 $= t_B(x) \wedge t_B(x)$   
 $= t_B(x).$   
(NL3) If  $\mu = \Theta$ ,  
 $t_B(\lambda x) = t_B(\lambda x + \Theta x)$   
 $\ge t_A(\lambda) \wedge t_B(x) \wedge t_A(\Theta) \wedge t_B(x)$   
 $= t_A(\lambda) \wedge t_B(x)$   
 $= t_B(x).$   
(NL4) Obvious

(NL4) Obvious.

Hence, B is a neutrosophic linear space over A.

**Proposition 4.5** If B and C are two neutrosophic linear spaces over A, then their intersection  $B \cap C$  so is.

**Proof.** Let 
$$x, y \in V$$
,  $\lambda, \mu \in F$  be given.  
 $t_{B\cap C}(\lambda x + \mu y) = t_B(\lambda x + \mu y) \wedge t_C(\lambda x + \mu y)$   
 $\geqslant (t_A(\lambda) \wedge t_B(x) \wedge t_A(\mu) \wedge t_B(y)) \wedge (t_A(\lambda) \wedge t_C(x) \wedge t_A(\mu) \wedge t_C(y))$   
 $= (t_A(\lambda) \wedge t_B(x) \wedge t_A(\lambda) \wedge t_C(x)) \wedge (t_A(\mu) \wedge t_B(y) \wedge t_A(\mu) \wedge t_C(y))$   
 $= t_A(\lambda) \wedge t_{B\cap C}(x) \wedge t_A(\mu) \wedge t_{B\cap C}(y).$   
The other inequalities are similarly satisfied. Hence,

$$(B \cap C)(\lambda x + \mu y) \ge A(\lambda) \land (B \cap C)(x) \land A(\mu) \land (B \cap C)(y).$$

**Theorem 4.6** Let V and Z be two linear spaces over the field F and  $g: V \to Z$  be a linear transformation and  $A \in NSF(F)$ . If B is a neutrosophic linear space of A, then

the image g(B) is a neutrosophic linear space of A.

**Proof.** Let *B* be a neutrosophic linear space over *A*,  $\lambda, \mu \in F$  and  $z_1, z_2 \in Z$ . If neither  $g^{-1}(z_1)$  or  $g^{-1}(z_2)$  is empty, then it is obvious that g(B) is a neutrosophic linear space over *A*. Suppose  $g^{-1}(z_1), g^{-1}(z_2) \neq \emptyset$ . Then  $g^{-1}(\lambda z_1 + \mu z_2) \neq \emptyset$ . Let  $v_1, v_2 \in V$  such that  $g(v_1) = z_1, g(v_2) = z_2$ . Then  $g(\lambda v_1 + \mu v_2) = \lambda g(v_1) + \mu g(v_2) = \lambda z_1 + \mu z_2$ .

$$g(t_B)(\lambda z_1 + \mu z_2) = \bigvee_{w \in g^{-1}(\lambda z_1 + \mu z_2)} t_B(w)$$

$$\geqslant \bigvee_{v_1 \in g^{-1}(z_1), v_2 \in g^{-1}(z_2)} t_B(\lambda v_1 + \mu v_2)$$

$$\geqslant \bigvee_{v_1 \in g^{-1}(z_1), v_2 \in g^{-1}(z_2)} \{t_A(\lambda) \wedge t_B(v_1) \wedge t_A(\mu) \wedge t_B(v_2)\}$$

$$= \left( t_A(\lambda) \wedge \bigvee_{v_1 \in g^{-1}(z_1)} t_B(v_1) \right) \wedge \left( t_A(\mu) \wedge \bigvee_{v_2 \in g^{-1}(z_2)} t_B(z_2) \right)$$

$$= t_A(\lambda) \wedge t_g(B)(z_1) \wedge t_A(\mu) \wedge t_g(B)(z_2))$$

$$= t_A(\lambda) \wedge t_A(\mu) \wedge t_g(B)(z_1) \wedge t_g(B)(z_2)).$$

Similarly, we obtain

 $i_{g(B)}(\lambda z_1 + \mu z_2) \ge i_A(\lambda) \wedge i_A(\mu) \wedge i_{g(B)}(z_1) \wedge i_{g(B)}(z_2)) \text{ and } f_{g(B)}(\lambda z_1 + \mu z_2) \le f_A(\lambda) \vee f_A(\mu) \vee f_{g(B)}(z_1) \vee f_{g(B)}(z_2)).$ 

By using these inequalities,

$$\begin{split} g(B)(\lambda z_{1} + \mu z_{2}) &= (g(t_{B})(\lambda z_{1} + \mu z_{2}), g(i_{B})(\lambda z_{1} + \mu z_{2}), g(f_{B})(\lambda z_{1} + \mu z_{2})) \\ &= (t_{g(B)}(\lambda z_{1} + \mu z_{2}), i_{g(B)}(\lambda z_{1} + \mu z_{2}), f_{g(B)}(\lambda z_{1} + \mu z_{2})) \\ &\geqslant (t_{A}(\lambda) \wedge t_{A}(\mu) \wedge t_{g(B)}(z_{1}) \wedge t_{g(B)}(z_{2}), \\ &i_{A}(\lambda) \wedge i_{A}(\mu) \wedge i_{g(B)}(z_{1}) \wedge i_{g(B)}(z_{2}), \\ &f_{A}(\lambda) \vee f_{A}(\mu) \vee f_{g(B)}(z_{1}) \vee f_{g(B)}(z_{2})) \\ &= A(\lambda) \wedge A(\mu) \wedge g(B)(z_{1}) \wedge g(B)(z_{2}). \end{split}$$

Obviously, for  $z \in Z$   $t_A(e) \ge t_{g(B)}(z)$ ,  $i_A(e) \ge i_{g(B)}(z)$  and  $f_A(e) \le f_{g(B)}(z)$ . So,  $A(e) \ge g(B)(z)$ . Thus, g(B) is a neutrosophic linear space over A.

**Theorem 4.7** Let V and Z be two linear spaces over the field F and  $g: V \to Z$  be a linear transformation and  $A \in NSF(F)$ . If D is a neutrosophic linear space of A, then the preimage  $g^{-1}(D)$  is a neutrosophic linear space of A.

**Proof.** Let  $x, y \in V, \lambda, \mu \in F$  be given.

$$\begin{array}{lll} g^{-1}(D)(\lambda x + \mu y) &=& t_D(g(\lambda x + \mu y)), i_D(g(\lambda x + \mu y)), f_D(g(\lambda x + \mu y)) \\ &=& (t_D(\lambda g(x) + \mu g(y)), i_D(\lambda g(x) + \mu g(y)), f_D(\lambda g(x) + \mu g(y))) \\ &\geq& (t_A(\lambda) \wedge t_D(g(x)) \wedge t_A(\mu) \wedge t_D(g(y)), \\ && i_A(\lambda) \wedge i_D(g(x)) \wedge i_A(\mu) \wedge i_D(g(y)), \\ && f_A(\lambda) \vee f_D(g(x)) \vee f_A(\mu) \vee f_D(g(y))) \\ &=& (t_A(\lambda), i_A(\lambda), f_A(\lambda)) \wedge (t_D(g(x)), i_D(g(x)), f_D(g(x))) \\ && \wedge (t_A(\mu), i_A(\mu), f_A(\mu)) \wedge (t_D(g(y)), i_D(g(y)), f_D(g(y))) \\ &=& A(\lambda) \wedge g^{-1}(D)(x) \wedge A(\mu) \wedge g^{-1}(D)(y). \end{array}$$

**Proposition 4.8** Let  $A \in NSF(F)$  and the neutrosophic sets  $B_1, B_2, ..., B_n$  of the vector space  $V_1, V_2, ..., V_n$ , respectively, be the neutrosophic linear spaces over A. Then  $B_1 \times B_2 \times ... \times B_n$  is a neutrosophic linear space over A.

**Proof.** Let  $B = B_1 \times B_2 \times ... \times B_n$ ,  $x = (x_1, ..., x_n)$ ,  $y = (y_1, ..., y_n) \in V_1 \times V_2 \times ... \times V_n$ 

and 
$$\lambda, \mu \in F$$
.  
(i)  
 $t_B(\lambda x + \mu y) = t_{B_1 \times ... \times B_n}(\lambda x_1 + \mu y_1, ..., \lambda x_n + \mu y_n)$   
 $= \bigwedge_{j=1,...,n} t_{B_j}(\lambda x_j + \mu y_j)$   
 $\geqslant \bigwedge_{j=1,...,n} \{t_A(\lambda) \wedge t_{B_j}(x_j) \wedge t_A(\mu) \wedge t_{B_j}(y_j)\}$   
 $= t_A(\lambda) \wedge \bigwedge_{j=1,...,n} t_{B_j}(x_j) \wedge t_A(\mu) \bigwedge_{j=1,...,n} t_{B_j}(y_j)$   
 $= t_A(\lambda) \wedge t_B(x) \wedge t_A(\mu) \wedge t_B(y).$ 

Similarly, the other inequalities are hold.

(ii)  $t_A(e) \ge t_{B_j}(x_j)$  for all j = 1, ..., n. So  $t_A(e) \ge \bigwedge_j t_{B_j}(x_j) = t_B(x)$  for all  $x \in$ 

 $V_1 \times V_2 \times \ldots \times V_n$ . Hence,  $B_1 \times B_2 \times \ldots \times B_n$  is a neutrosophic linear space over A.

## 5. Conclusion

In this paper, the notion of a neutrosophic field, which based on single-valued neutrosophic sets, over a classical field has been presented. Some of its main properties have been discussed and its equivalent characterizations have been studied. At the same time, the concept of neutrosophic linear spaces over neutrosophic fields have been introduced and it is expected that several results from linear algebra and functional analysis can be extended to the notion of single-valued neutrosophic sets. Particularly, it is hoped that the concept of neutrosophic linear spaces will give rise to the notion of neutrosophic normed spaces.

## References

- I. Arockiarani, I. R. Sumathi, J. Martina Jency, Fuzzy neutrosophic soft topological spaces, Inter J. Math Arhchive. 4 (10) (2013), 225-238.
- [2] R. A. Borzooei, H. Farahani, M. Moniri, Neutrosophic deductive filters on BL-algebras, J. Intel. Fuzzy. Sys. 26 (6) (2014), 2993-3004.
- [3] V. Çetkin, H. Aygün, An approach to neutrosophic subgroup and its fundamental properties, J. Intel. Fuzzy. Sys. 29 (2015), 1941-1947.
- [4] V. Çetkin, H. Aygün, An approach to neutrosophic subrings, Sakarya Univ. J. Sci. 23 (3) (2019), 472-477.
- [5] V. Četkin, B. Pazar Varol, H. Aygün, On neutrosophic submodules of a module, Hacet. J. Math. Stat. 46 (5) (2017), 791-799.
- [6] T. Eswarlal, R. Ramakrishma, Vague fields and vague vector spaces, Inter. J. Pure Appl. Math. 94 (3) (2014), 295-305.
- [7] Thomas W. Hungerford, Algebra, Graduate Texts in Mathematics, Vol. 73, Springer, 1974.
- [8] V. Kandasamy, F. Smarandache, Some Neutrosophic Algebraic Structures and Neutrosophic N-algebraic Structures, Hexis, Phoenix, Arizona, 2006.
- P. Majumdar, S. K. Samanta, On similarity and entropy of neutrosophic sets, J. Intel. Fuzzy. Sys. 26 (3) (2014), 1245-1252.
- [10] S. Nanda, Fuzzy fields and fuzzy linear spaces, Fuzzy Sets. Sys. 19 (1986), 89-94.
- [11] A. A. Salama, S. A. Al-Blowi, Neutrosophic set and neutrosophic topological spaces, IOSR J. Math. 3 (4) (2012), 31-35.
- M. Shabir, M. Ali, M. Naz, F. Smarandache, Soft neutrosophic group, Neutrosophic Sets. Sys. 1 (2013), 13-25.
   F. Smarandache, A Unifying Field in Logics. Neutrosophy/ Neutrosophic Probability, Set and Logic, Re-
- hoboth: American Research Press, 1998.
  [14] H. Wang, F. Smarandache, Y. Zhang, R. Sunderraman, Single Valued Neutrosophic sets, Proceedings of 10th International Conference on Fuzzy Theory & Technology, Salt Lake City, Utah, 2005.
- [15] G. Wenxiang, L. Tu, Fuzzy linear spaces, Fuzzy Sets. Sys. 49 (1992), 377-380.
- [16] K. M. Zhang, Y. Bai, X. L. Li, Y. F. Qin, Intuitionistic Fuzzy Subfield and its Characterizations, Second International Conference on Intelligent Human-Machine Systems and Cybernetics, (2010), 58-61.

198